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Problem quickname: 7164
D
Simplify the term as far as possible.
a)y-9-7-10ry-2-y-z =7-9- 10yyyzz—630y
byz-y-3-x-2-7T-6-y :367xa:yyZ—1261:yz
)8-4-y-8-y-y-y =4-8-8-y-y-y-y=256y"
) 6-4-6-y-2-y-2 =4-6-6-y-y- 2z 2z=144y>2>
e)9-2-y-5-y-y-y-y =2-5-9-y-y-y-y-y=90y°
f)z-6-3-7T-y-y-x-y-2x :367xxxyy-y:126xy
gzr-y-y-9-2-y-2-5 =259 2y y-y-z= 90acyz
he-4-2-3-2:5-2-y-y =3-4-5-xz-x-x-y-y-2z=060zy
)2-5-y-5-z-y-y-z =2.5-5-z-y-y-y-2z=>50xyz
N9y z-8-2-7-2 =7-8-9-2-x-y-2z=50422yz
2)
Simplify the term as far as possible as shown in example a).
a) —6-(=8)-y-4 =—8-(—6)-4-y=192y
b)y-(=7)-z-(=9) =-9-(=7) y-z=03yz
c)3-y-(=3)(=5) =—5-(=3) -3 -y=45y
dy-x-z2 =Ty -z=2Yz
)y (—4)-y = —d.y-y=—4y°
f) —6-y-(-6) =—6-(=6)-y =306y
g) z-(—8) -z = —8-z-2=—-827
h)y-z-y —z-y-y =y’
i)z -7-(—6)- vy =—6-7-xv-y=—42xy
j)8-(—=5)-y-3 =-5-3-8-y=—-120y
3)
Simplify the term as far as possible.
a)5-4-2-T-y-y =4.5-7T-x-y-y=140zy?
b)z-y-2-5-5 =5-5-y-2-2=25y%>
zoy-z-y-y-z-T =T-y-y-y-z-2-2="y2>
dy-4-6-9-y-z-y =4-6-9-z-y-y-y=216xy>
Qy-3-8-9-y-x =3-8-9-2-y-y=216zy?
f)9-4.-6-x-y =4-6-9-x-y=216xy
g y-7-3-6-x-y-x =3.6-7T-x-x-y-y=1262%>
h)2.-y-8-4-x =2-4.-8-2-y=>64dzy
i)5-9:-8-z-y-y-x =5-8-9-2-y-y-2z=360xy’z
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Hy-7-2-2-5-x =2.5-7T-x-2-y="T02%
4)

Simplify the term as far as possible as shown in example a).
a) =9-y-(=3)-y =—9-(=3) -y -y =27y

b) =8 (—6) -2y =—8-(—6) y-2z=48yz
c)4-5-10-x =4-5-10-2 =200z
d)z-z-y-(—4)-8 =—4-8-z-y-2=-32xyz
e)z-T-T-T-2 —z.x-z-2 2=12

f) =3-y-z2 =-3-y-z=-3yz
g)z-y-4-(—4) =—4-4-y-z2=—16yz
h)8-9-z2 =8:9.-2="T22

i)7-(—4)-3-2-2 = —4-3-T-2-2=—842>
j)10-(=3) -z =—-3-10- 2z =-30x

Good Luck!
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